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A T
GENERAL KNOWLEDGE

1. YNd 1 98T GR fem ‘snfeca ue1’ e gaifuq foean mam en 2

(A) Taamar 2023 (B) TSR 2024 (C) ST 2023 (D) SeFsR 2023

When was first solar mission of India ‘Aditya L1’ launched ?

(A) September 2023 (B) October 2024 (C) June 2023 (D) November 2023
2. Torm st o 9 O @, 2023 G R ™ Y 7

(A) i (B) TSI (C) &St (D) =g

In which city Para Asian Games, 2023 were held ?

(A) Beijing (B) Guangzhou (C) Hangzhou (D) Shanghai
3. 2024 vRdE whayfa wa fafma 1€ (Fs) &1 sreme fope fgam fepen mm o ¢

(A) 3T It (B) TIE gt g (C) I, . fa=ar (D) €. IR, TEa

Who was appointed as the Chairperson of the Securities and Exchange Board of India (SEBI) in 2024 ?

(A) Ajay Tyagi (B) Madhabi Puri Buch (C) U.K. Sinha (D) D.R. Mehta
4. qfeHTg § U Tt Torifae el < affamm 9 e’ fohdeh gRI Y& <t At 7

(A) AT BEA (B) TSRl

(C) IId AR (D) ST forer S=garet

Who launched ‘Tamilaga Vettri Kazhagam’, a new political party in Tamil Nadu ?

(A) Kamal Hasan (B) Rajnikant

(C) Ajith Kumar (D) Joseph Vijay Chandrashekhar
5. 194l Si-20 RTER T e el Tt foham 7= o ?

(A) E feeft, W (B) Tt fe s, smsfiet

(C) Sehrdi, SUSHIRT (D) WEhI, &F

Where was 19" G-20 Summit held ?

(A) New Delhi, India (B) Rio de Janeiro, Brazil

(C) Jakarta, Indonesia (D) Moscow, Russia

6. oo WA AN hl YT e gl ?

(A) 2 X, 2014 (B) 21 3T, 2014 (C) 225adl, 2015 (D) 28 3T, 2014

When Swachha Bharat Mission was started ?

(A) 2 October, 2014 (B) 21 August, 2014 (C) 22 January, 2015 (D) 28 August, 2014
7. GHETSIHTA Segor 1 ST Fewew fohed foRam o ?

(A) 3. €. sfam (B) T. I. BH (C) . TA. ARAI (D) T. TH. UgasH

Who was the first to apply the sociometric test ?

(A) J. A. Davis (B) A.J. Reiss (C) J.L.Moreno (D) A.M. Edwards
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8. frferfad 1w argspa § =rafeya Hifs :
|. SR qHh
II. HHeh! HT THEHTT
III. THeh! ST fergersor
IV. FHeh! ST SR TR0l
= feu T e § @ e W g
%e:
(A) LIV, I B) I, Iv, 1,1 C) LML IV, I (D) 1, 1L, 1,1V
Arrange the following in a sequence :
I. Raw Data
Il. Data Processing
[ll. Analysis of Data

IV. Presentation of Data
Choose the correct answer from the code given below :

Code :

(A) 1,11, 1V, 11l B) 1,1V, 11, 1l (©) 1,1, 1V, 1 (D) 1,111, 1, IV
9. frfafiga @ 9 Fa-a1 w v sfawifiEt =6 e =@ a1 sy 1 mafes fas fmm e 2

(A) TIfEThR Tgcd gHfTad e B) forsmrer ferest 3R T T

(C) 31 3N YL T TN HLAT (D) SfGuTir =ht MYf=dT s T

Which one among the following is a primary ethical consideration when conducting research involving
human participants ?

(A) Ensuring statistical significance (B) Achieving a large sample size
(C) Utilizing advanced research methodology (D) Maintaining participant anonymity
10. WWH e S 3=y smenfia feqor 6 fafyr B, fmes g smey 6w v
(A) fafeem S/ (B) SR SR (C) ST et (D) S Tomt
Who introduced discovery learning method of inquiry based education ?
(A) William James (B) Jerome Bruner (C) John Dewey (D) Jean Piaget
11, Tavafaerem sem s 6 - tga oo fren 4 “fefea affn” & gfot o1 qomam w0
T AT T 7 ?
(A) =S G AR (B) W Tty fefsreet @mgsidt (NDLI)
(©) fefsrea sfean swrlsn (D) sfeu wief Tedia gard fervafammer (IGNOU)
Which initiative of UGC aims to address the challenges of “Digital Learning” in higher education ?
(A) Swachh Bharat Abhiyan (B) National Digital Library of India (NDLI)
(C) Digital India Programme (D) Indira Gandhi National Open University (IGNOU)

12. CIMAd &A1 10 1 Sl gfafafie s g 7

What is the binary representation of decimal number 10 ?
(A) 0110 (B) 1001 (C) 1010 (D) 1100
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13.  TfTETSe WsE T AT @

(A) 1024 €TecH (B) 1024%313231 (©) 1024ﬁ7ﬂ3|132\'9 (D) 1024TﬂTI'IE|'|32\'H

The term gigabyte refers to

(A) 1024 bytes (B) 1024 kilobytes (C) 1024 megabytes (D) 1024 gigabytes
14, 3ifehgl &I TUMET 7q =1 § & HH-T1 TIEE TR BT 8 7

(A) MS Access (TH. TH. THH) (B) MS Excel (TH. TH. T&0)

(C) Google Docs (TTT SToH) (D) MS PowerPoint (TH. TH. UTeRUTEC)

Which tool is used among the following for data calculation ?

(A) MS Access (B) MS Excel

(C) Google Docs (D) MS PowerPoint
15. = @ ®F-w1 ‘Tqe feasa ? 7

(A) SR wrg Tt (B) A (C) Jsiere (D) s Tt

Which of the following is an ‘input device’ ?

(A) Bar code reader (B) Monitor (C) Projector (D) Braille reader
16. TafeRefi uftfeufoai o aRada o areryg § qei o Saet Tiafaferi o 0 Sl g S 8

(A) arfefefasht (B) ufterea fomm

(C) Sy fo™ (D) aTteht

The timing of seasonal activities of plants in relation to change in environmental conditions is referred to as

(A) Ecology (B) Phenology

(C) Climatology (D) Forestry
17.  “SISiAT Merhie Frefafaa o & form v o gfeg 2 2

(A) Torma =i 3 (B) 3TaqfH &

(C) Shfaa wonfea sfiai & (D) TSI T H&qor &

‘Cartagena Protocol’ is related to which one of the following ?

(A) Heritage sites (B) Wetlands

(C) Living modified organisms (D) Ozone layer conservation
18. TrfciRad # & SHH-H Ush IR SMETNG JUTeR & STal SHPafaT ScasH STHTaR <l THiG Ud < Tehdl & ?

(A) e T (B) e ferereger

(C) re féreh (D) e gfem

Which one among the following is a market based system where companies can buy and sell emission

permits ?

(A) Carbon Space (B) Carbon Sequestration

(C) Carbon Sink (D) Carbon Trading
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19. fr=forfad argHeet 9T i 3 I fawd & oed A § afer Hifv |

|. ShTeH SE3TFETEE

1. ATgerSH
1. TS

IV. 3T
= feu e e & ¥ T W AT
ET
(A) 11,1V, 11 (B) LIv, 1, n (C) 1L, 1, v, 1 (D) 1, 10,10, 1V
Arrange the following atmospheric gases in order of their volume percentages in descending order.
I. Carbon dioxide
II. Nitrogen
[ll. Oxygen
IV. Argon
Choose the correct answer from the code given below :
Code :
(A) 1,1, 1V, 1 (B) LIv, I, n (C) 1, v, | (D) 1,1V

20. Tr=taRaa u8l =1 37 wefla @iy & YR W ged A § Faferd Hivd |
Ity

T

I

. g

= feu T %e ¥ | TE W g

He:

(A) 4,3,2,1 (B) 4,1,3,2

(C) 3,2,1,4 (D) 3,4,2, 1

PO bd =

Arrange the following planets in descending order according to their orbital period.
1. Saturn

2. Mars

3. Jupiter

4. Uranus

Choose the correct answer from the code given below :

Code :
(A) 4,3,2,1 B) 4,1,3,2
(C) 3,2,1,4 (D) 3,4,2,1
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21. = T %o fou €, A 8 w1 iR (A) AT GER I SR (R) HaET T R
ATReA (A) @ ST HIE TE A A FheToRt g H YAV AT &, a1 98 $S W 33 I 7 |
AT (R) : TUZ % SToT 1 Tcd 4l & oA o e o 37 7 |

e fou g e § @ wE I ghT

ET

(A) (A) 3R (R) THT & & 3R (R), (A) 1 HEl AT FTT 2

(B) (A) 3R (R) EHI I &, T (R), (A) *hl HEl ST F& HTaT &

(©) (A) ¥ 8, T (R) Teid 8

(D) (A)Ted 7, T (R) & 8

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : When a ship leaves a river and enters the ocean it rises a little.

Reason (R) : The density of sea water is more than that of river water.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

20, forg faf¥r sl s1iget Wi site Gfifa 1 Sah o el 4 ST 8§ Yid o fa9SH i S s
I T o1 7
(A) 145, 1947 (B) 12, 1947 (C) 04, 1947 (D) 03[, 1947

On which date Gandhiji asked Congressmen to accept the Partition of India at the All India Congress
Committee Meeting ?

(A) 14 June, 1947 (B) 12 June, 1947 (C) 04 June, 1947 (D) 03 June, 1947
23. frefafga 8 @ SH-o1 v fower wgedt g=ht § 78 2 7

(A) farem (B) =T IMHA

(C) s 3R A (D) W e

Which one of the following subjects is not in the concurrent list ?

(A) Education (B) Administration of justice

(C) Weights and measures (D) Public health
24, TTESHS foheeh TR | Tgd o &9 H TR o7 7

(A) Togar (B) 3TN (C) T=TTed HHd (D) T8y

In whose court did Megasthenes come as an ambassador ?

(A) Bindusar (B) Ashok (C) Chandragupta Maurya (D) Brihadratha

25. TSl § gy e fopd o @mp femerm R o ¢

In which year Dyarchy was started in the provinces ?
(A) 1909 (B) 1919 (C) 1935 (D) 1937
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26. N Giag™ & foha 3<ae o dgd et o AR I Hifees HAfUhR & &9 | M § Tt g ?

(A) 3BT 21(A) (B) 3TI=8T 45
(C) F1T=e 19 (D) 3TT=sE 32
Under which Article of Indian Constitution is the Right to Education guaranteed as Fundamental Right ?
(A) Article 21(A) (B) Article 45
(C) Article 19 (D) Article 32
27. g Gfaum @omem g gesit Afufat s Tt gt Jem fhan w7
(A) 96T Tfau™ Gemem (B) 97 df Gfae= Hmed
(C) 99 af Tiger HmeH (D) 101 df \faem= Gumed
By which Constitutional Amendment, the Co-operative Societies were given Constitutional status ?
(A) 96 Constitutional Amendment (B) 97 Constitutional Amendment
(C) 99t Constitutional Amendment (D) 101t Constitutional Amendment
28. hifds MR (2020 — 21) & GRH Had I aE TTferd &1 ol shH WRdATT e & gey o
Tafa HI |
(A) FfY, Far, Se (B) &, iy, v
(C) Fer, wEm, Hi (D) S, e, iy
Select the order of worst affected sectors in the context of Indian Economy during Covid Pandemic
(2020 - 21).
(A) Agriculture, Service, Industry (B) Service, Agriculture, Industry
(C) Service, Industry, Agriculture (D) Industry, Service, Agriculture
29. Tsh @ hl ST, e forelt =aferd b1 foptlt 6 T BT 31 71 BT hIE 3= &1 SeidT 8, haaidl &
(A) 37T TSR (B) 3NU=ITieh ST
(C) HrEHt ST (D) T=Bd USR]

A type of unemployment in which the presence or absence of a person in a job does not make a
difference, is called

(A) Under employment (B) Formal unemployment
(C) Seasonal unemployment (D) Disguised unemployment
30. W S (2025 —26) % TEA UgTH SR HeATT 7 HTHTISIS FL&AT ThiH T Jedra feam w8
(A) fafmior &= & sfieni & fol (B) Y & % wftrehi & ford
(C) FATTeIE wiewd Hfirnl & ford (D) HigeT =it & for
Under the Union Budget (2025 — 26), first time Social Security Scheme for Welfare has been proposed for
(A) Manufacturing workers (B) Agricultural workers
(C) Online platform workers (D) Women workers
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PHYSICAL EDUCATION

31. ‘i wee @ e wsgi @ foran o B, “Shettm’ forrent 319 € grat 3w et 31 @

(A) T (B) T&Iferd (C) aTeha (D) TS
The word ‘Calisthenics’ is derived from two Latin words ‘Kalos’ means beautiful and ‘Sthenos’ means
(A) Speed (B) Endurance (C) Strength (D) Flexibility

32. U HE. Y, (RAT fervafoenmers @a) hi T fohe au # g8 off ¢

In which year the A.l.U. (Association of Indian Universities) was established ?

(A) 1950 (B) 1925 (C) 1935 (D) 1940
33. g — | I g — 11 b Ty guferd L |
g - T -l
a. SIATIhIHH 3T . e 3T g &% §19 | Feiea
b. IR 31 II. =l T OHT Tk
c. gfeeh 31y . e, afed 3R fedi o e a1y
d. AHfE® Y IV. shelet o <l gfg TR fosra
= feu e fehedt ® & @El 3 g
(A) a-—1 b—Il c—1i d-Iv
B) a—1i b-IVv c—1i d—I
(€) a-1il b—IV c—1 d—1i
(D) a-Ii b-I c—1IV d—1

Match List — | with List — II.

List -1 List -1l
a. Chronological age I. Related to puberty and secretion of hormones
b. Anatomical age [I. Mental development of child
c. Physiological age Ill. Age recorded in years, months and days
d. Mental age IV. Growth and development of skeletal system

Select the correct option from the following :

(A) a—1 b—1i c—1il d—1Iv
B) a—IIl b—IV c—1l d—1
() a-1i b—IV c—1 d—1i
(D) a-Il bl c—1IV d—1i
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34, 5T ST <hl ST F2T T [H HT T BT g4 27, HUA fhEeRt 7 7
(A) ST AT (B) 3IE] (C) wect (D) g

Who said, “Philosophy is an attempt to know reality as against more appearances” ?

(A) John Lock (B) Aristotle (C) Bradley (D) Socrates
35. ifwen fren & fagra gora: @1 fowail w smenfa g 2
(A) T 3R g (B) werl 3N fame
(C) Tehieh 3T SHivred (D) f3rem 3fit fomm
The principles of physical education are primarily based on two subjects
(A) Science and philosophy (B) Art and science
(C) Technique and skill (D) Education and science

36. =l fGu T G AT H | T I AR (A) IR G HI qeh (R) gl T2 |
AR (A) : WeAshe W 9T o H HHTSHHT BT 2 |
T (R) . WeTRe AT 3TTEdi < foeh™ id & |
39 AT b etk § fraferiad fashedl o & gaffess suge 3w 4
(A) (A) 3R (R) aHI FET & 3 (R), (A) T Hel IR ¢ |
(B) (A) 3TN (R) THI T&l & T (R), (A) sl Hel e el 2 |
(C) (A) W&l 8, W (R) T 7 |
(D) (A) TreTd &, W (R) HEl 2 |

Given below are two statements; one is labeled as Assertion (A) and other is labeled as Reason (R).
Assertion (A) : Socialization take place through participation in games and sports.

Reason(R) : Games and sports inculcate develop social habits.

In the light of the above choose the correct answer from the options given below :

(A)
(B)
(©)
(D)

Both (A) and (R) are correct and (R) is the correct explanation of (A).
Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(A) is correct but (R) is not correct.
(A) is not correct but (R) is correct.
37. TorueRt weA B T “@at foramares fafafertt &t mea srfveafaa 27 2

(A) . d. = (B) Wiset (C) et (D) B ST

Who stated that, “Play is profound manifestation of creative activities” ?

(A) T.P.Nunn (B) Frobel (C) Gulic (D) Mc Dougall
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38. UTSIHH AT f W anenfa B =fEw
|. JTRAT ke % R # FWEe
II. STIEHH o THRSHIHS Hod
IIl. THIS TUT GBI gRT IHE &

IV. e g

(A) 1Ll (B) I, v (C) 1,1 (D) I, IV
Curriculum planning should be based on
I. Understanding of the learning process.
Il. Recreational value of programme.
lll. Influences from society and culture.
IV. Leadership ability.
Find the correct combination :

(A 1, 11 B) I, IV (C) 1,1 (D) 1, IV

39. WAl g Ufquifed STavaehdiati & UgshH 1 T&! Y HIA-TT 7 ?
(A) STTHHHM, HATHAIY, FL&AT JERIehdTy, IR ATawIeharng
(B) TS, STTCHHHM, L&A SERIhdTS, IR SATTTIHATE
C) YRIfeh JATavaehard, ATcHae, STTHEHH, T JTagaehdrd
D) T&T ATLIHATT, IRIh HTEYIhA, A, ST
Which is the correct sequence of hierarchy of needs propounded by Maslow ?
(A) Self esteem, self actualization, safety needs, physiological needs
(B)
(C) Physiological needs, self actualization, self esteem, safety needs
(D)

Self actualization, self esteem, safety needs, physiological needs

Safety needs, physiological needs, self actualization, self esteem

40. Ueh eTaeh U4 faemeff & shear & - S99 3Hh! WREd &, 1 37T O GRS bl o 9 |

Ig HEN 1 G AT B ?

(A) THTAR B (B) ITETC TATE

(C) |Tfera 3ATIIehT (D) EhIICHS e htul
A teacher tells his student — ‘When you learn this, you will be able to carry out your project’. What does
this communication suggest ?

(A) Continued interest (B) Ambiguous advice

(C) Potential threat (D) Positive reinforcement
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41, = fou T G R H W T B AR (A) IR G Pl deh (R) FaT T 8
arfireRe (A) : YT frer frerss 1 stenfyes $aret g1 =1feT |

T (R) : IR foren foretes =t fo@T S @ vl 1 TE @ ¥ YeRia S i 3TTaehal
Il 2 |
3T HeFl % AT | fmfeiiea foehedi § & Haifaes U T g |
(A) (A) 3T (R) GHT @l & 3T (R), (A) 1 Tl =@ & |
(B) (A) 3T (R) SHi &l € W (R), (A) 1 Wl wamean & &
(C) (A) W& 2, W (R) TTed 2 |
(D) (A) TIed 2, g (R) Wl B |
Given below are two statements ; one is labeled as Assertion (A) and other is labeled as Reason (R).

Assertion (A) : Physical Education teacher should be highly skillful.
Reason (R) : Physical Education teacher requires, correct demonstration of the skill being taught.

In the light of the above choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(C) (A)is correct but (R) is not correct.

(D) (A) is not correct but (R) is correct.

42. = f@ ™ wem wmhfes fefact § @ o4 sngfe wrRa % s fan & wen fommes o
(A) 5. &t A= (B) U=, Hi. 9%
(C) B (D) 3.2l TR
Who among the great Physical Educationist given below was the great thinker of Physical Education of
modern India ?

(A) J.B. Nash (B) H. C. Buck
(C) Hagman (D) J.D. Butler

43. TR TIH Hirdorad § aft @t &7 fopw foen # fafda e =few ¢

(A) eferrafem feum i (B) d-ufeem feam &
() fepeft +fi feam o (D) Fe-gfen fewm &

All playing areas in an indoor sports complex must be laid in which direction ?
(A) South-West direction (B) East-West direction
(C) In any direction (D) North-South direction
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44. gA-1 1 -1 % T gafed =L |

45.

T -1 g -l
a. TeREm |. 9T = o Tt AeenR
b. TifeaH II. I Td AU @R 3sT Wl §
c. TINES IIl. TR hIFNTHTS ! TE TET &
d. FANEE IV. gidi 1 <adceh i TEd T@dl &
= feu U faskedt § @ @t 3w g
(A) a—1 b—1i c—ll d-1Iv
B) a-ll  b-lI c—Il d-Iv
(C) a—Il b—ll  c-IV d-I
(D) a—-ll b-1 c—IV  d-I

Match List-I with List-II.

C.

d.

List -1

a. Potassium
b.

Sodium
Fluoride

Chloride

List -1l
I. Helpful for digestive system
Il. Keep nerve and muscular system healthy
lll. Keep blood cells healthy

IV. Keep enamel of teeth hard

Choose the correct answer from the code given below.

(A) a-—| b—Il c—1il
B) a-ll  b-l c—Ii
C) a—1i b—Ill c—Iv
D) a-ll b-1 c—Iv

d-1Vv
d-1Vv
d-1
d—|

GET IT ON
Google Play

IZ T hl HIRTHIS Bl AGEE S o [T STETIH BId & qUT FHhI HHT 3Tal a1 ol s=i §
ST BT 319 BT BT B | THISREAT H SHeh! HHT S0 SIY b1 hRUT &l Fehdl & |

(A) UTSA

G RERIE (C) WifcTeh Tftrg DERIEE

It is essential for the production of healthy blood cells and its deficiency is a common cause of anemia

among women and children. Its deficiency during pregnancy can lead to birth defects.
(A) Thiamin

(B) Niacin

(C) Folic Acid (D) Biotin
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46.

47.

48.

49.

GET IT ON
Google Play

A (Je®) <o fore fesm 8 fopd T TmEl sl gg/ ea @ ?

(A) Tqul Hfedea 1 faep
(B) v ferepr

(C) &waT o1 farshrd

(D) WY Faeq ud U feamon

Wellness movement supports efforts directed towards

(A) Developing all round personality
(B) Skill development
(C) Fitness development
(D) Health promotion and disease prevention
HUfea fmie @ fopg faerfim =1 fmfor grar 2 2
(A) T B
(C) faerfim A
Which vitamin is formed from carotene pigment ?
(A) Vitamin B
(C) Vitamin A
TIohd & R & foru y@ Siften wre 2

(A) HIUHE
(C) | fafertor
Prominent risk factor for cirrhosis of liver is

(A) Alcohol consumption

(C) Solar radiation

(B) T D
(D) fefim C

(B) Vitamin D

(D) Vitamin C

(B) g9
(D) &&T g1 HietegiAl

(B) Smoking

(D) Elevated cholesterol

3G ITSTT ! FIT had & oy IR hl IGehT T T90T T firerar & =i foh =1 ot =afea @ war g

IGehT IR TIN0T o1 TSN &1 ot 91T ?

(A) FERIT
(C) ETII3TTHR

(B) Ul
(D) IO Td F@RIT

What is the condition known as, in which the body does not get its fair share of nutrients, either from

starvation or as a result of poor absorption ?
(A) Marasmus

(C) Kwashiorkor

-13-

(B) Malnutrition

(D) Malnutrition and Marasmus

50


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

50. ¥=-1 S G-Il 3 H1 AT R |

i -1 -1l
a. faerfim - E |. TEhIfeeh 3T
b. foeTi@ - B, II. SheH TRl
c. fqaf@ - b, Il TgSTFRATeH
d. faefim - c IV. Tl A
= %qnqﬁwq‘r T ¥ ¥ IW g
(A) a b-Il c-1I d-I
(B) a b—1ll c—ll d-IVv
(C) a —II b-lll c-1 d-1IV
(D) a=IV  b-I c—1I d-ll
Match List-I with List-II.
List -1 List -1l
a. Vitamin-E I. Ascorbic Acid
b. Vitamin - B, Il. Calciferol
c. Vitamin — D, [ll. Riboflavin
d. Vitamin-C IV. Tocopherol
Choose the correct answer from the options given below :
(A) a IV b-1ll c-1I d-I
(B) a b—1ll c—ll d-IVv
(C) a —II b-lll c-1 d-1IV
(D) a b—I c—1l d-ll

51. :ﬂ%ammﬁﬁﬂﬁé@aﬁmmm)amaﬁﬁw(R)ww%:
Aftrerem (A)  : wfqaifirar srafer o fsreror <61 Sevw S ®E (TesiE) 1 I

R SN WA 8 |

HUT (R) : T 91 Y B B L & 91¢ T THY qeb SH HEH @ AT
Hehdl B |

= feu MU e | TE IW AT

?
(A) (A) 3R (R) THI T & 3 (R) (A) S TE =TT HLAT B
(B) (A) 3 (R) GFI § € W (R), (A) ! H&l SAEAT el Ll &
(C) (A) & 2 W (R) Tefd ®
(D) (A) TTeTd @ W (R) &ed B
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R) :
Assertion (A) : The training in competition period aims at achieving and maintaining top form

Reason (R) : Once achieved the top form can be sustained for long.
Select the correct answer from the codes given below :
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A) is false but (R) is true
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52. WAt § fowfees faenfeat 7q wr wftreor fafer form ad & g H1 18 ¢

In which year weight training method was introduced for Gymnasts in Germany ?

(A) 1800 (B) 1820 (C) 1811 (D) 1816

53. = feu M g1 YAl °§ § T Bl ARYA (A) 3T G I Tk (R) a1 T |

arftreRem (A) @ SffiTar & fofe Teaer dardt o1 Ievr g gfeRnfirar § o &1 gesss yeeiH e
Hdl B |

T (R) : awjﬁﬁmmm%muﬁmﬁﬁémﬁ%m
eI dart off wEeEguf 2 |

39 HUAT < 3Tk § fferiad fashedt # & Haffess Iuge I 94 |

(A) (A) 3R (R) 1 T 2 3T (R), (A) 1 W = 2

(B) (A) 3T (R) THI W& 2 T (R), (A) I FEl =T Tal &

(C) (A) W&l &, W (R) TTed &

(D) (A) TIeTd & W (R) &l ©

Given below are two statements, one is labeled as Assertion (A) and other is labeled as Reason (R).

Assertion (A) : The aim of direct preparation for competition is to achieve years best performance
in the main competition.

Reason (R) : Direct preparation is also important for build-up competition to
perform well in practice matches.

In the light of the above choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A)is correct but (R) is not correct

(D) (A) is not correct but (R) is correct

54. Hdd U ygfd fore S fafrcaes 3 1= % gra & 1 T8 off ?

(A) 3T TH ThdA (B) U

(C) foa® . Tgg (D) fary 3.

Continuous training method was introduced by which German Physician and Coach ?
(A) Ernst Van Aaken (B) Robert

(C) Ciliff M. Andrew (D) Smith R.
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55. = fu T g1 YAl H § T I AR (A) 3TN GE I T (R) FHE TS |
firRed (A) : HOS T UH G § WA i 3rafa @ uiw fiod Reenfeai § & sifespan dfa
e Y Iafa ? |
T (R) : Hegl H yfaeenfud Reart i qa: ufwenfya foham sm g 2 |
IR o % e § FrefRed feed § & et I IR S
(A) 3T (R) ST T 2 3T (R), (A) BT wE T @
(A) 3T (R) T T B TG (R), (A) B wE ST A 2
(A) FE 2 T (R) T @
(D) (A) TIeTd & g (R) el ®
Given below are two statements ; one is labeled as Assertion (A) and other is labeled as Reason (R).

Assertion (A) : In Kabaddi, maximum of five substitution from five reserve players are allowed with

the permission of referee at a time.
Reason (R) : In Kabaddi, substituted players can be resubstituted.

In the light of the above choose the correct answer from the options given below.
(A
(B

C

D

) Both (A) and (R) are correct and (R) is the correct explanation of (A)
) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(C) (A) is correct but (R) is not correct
(D) (A) is not correct but (R) is correct
56. SATIaRAcT STFAHR T &1 319 g1 & 7
(A) YR AT TS dfisral sl Teh |1 FGHT
B) WX @M &g Af=ehl dw T IUANT
C) HauIgde i e s
D) AThd Jfg o T AEURE § dR-R q e foshfa e
What is progressive overload ?
(A) Increase volume and intensity together
(B)
(C) Careful increase of speed training
(D)

Use of nervous system to increase load

Gradual increase in the stress placed on muscle as it gains strength

M -16- 50
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57.

58.

o1 w7 gm0 fepw e <t wifarfsmam wlietor i wTon S weRaT B 7
— szm(m)%ﬁﬁﬁﬁzﬁaﬁ
32 x TV TecaThY fERRTH
(A) Jou 8Us frume 2rsd o
(B) et forgarer fus eren 2w
C) FoaRIS JNifeet gve fuwH TRy &
D) SoiaRgIeh HeIsel e NuaRM 2H &

Which type of reaction test is computed by the following formula ?

RT = JZ x distance the stick (timer) falls in feet

32 x Acceleration gravitational constant

(A) Nelson hand reaction time test

(B) Electronic visual reaction time test

(C) Electronic auditory hand reaction time test
(D) Electronic tactile and reaction time test

Tt — | 1 g - 11 % Ty gAfed H |

gt -1 -l
a. 3 JeIH |. THifen hriaTer
b. ST 1 STRISH II. ST Jg=™
c. sl 6l BhIfT I1I. SifSreqor <hi SrarEen
d. wfcnfirar s w1 Hiet g Iv. fcenfirar someft
E1E| ﬁq nq foepedl § & @&l IW T |
(A) a b -1l c—Iv d-ll
(B) a—1i b-IV c-1 d-I
(C) a b—1l c—1 d-1l
(D) a-1 b-1 c—Ill d-1Vv
Match List — | with List — 1.

List -1 List -1l

a. High performance I. Tactical action
b. Organization of competition II. Talent identification
c. Screening of children Ill. Training stage
d. Motor solution of competition task IV. Competition system
Choose the correct answer from the options given below.
(A) a-— b -1l c—Iv d-ll
(B) a—1i b-IV c-1I d-I
(C) a- b—1l c—I d-1l
(D)a—II b-1 c—Ill d-1V

-17-
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59.

60.

61.

62.

63.

GET IT ON
Google Play

e ™ 389 & foTu u wiequr o Yo i AW o WA ¥ g S 1 hEwnd § 7

(A) TTfeheh derdT
(C) Tt Serar

(B) TcTeT et
(D) T fg deran

The worth of a test for a given purpose, proven through experience is called

(A) Logical validity
(C) Construct validity

(B) Face validity
(D) Empirical validity

et e ¥ Fram ¥q Fre i @ T A R 2

(A) Torvawfaran (B) HeTohA (C) S (D) Tsagran
Which of the following is not true for the construction of achievement test ?

(A) Reliability (B) Evaluation (C) Validity (D) Objectivity
HY % TAATH ! 79 o Tore ferg wieqor s SwRimT foparm ST B 7

(A) Toe i f= ewe (B) & Thd oW

(C) T fore & (D) HIE-I T

Which test is used to measure shoulder flexibility ?
(A) Sit and reach test
(C) Trunk lift test

(B) Back scratch test
(D) Kraus-Weber test

Teh WAeeh shigred hl fergaraiarar wr: forg wepr faerifea <t weft 8 2

(A) ferfee—am fafa g
(C) THMT=R &Y fafer gra

(B) dfeheh THMAT & gIRT
(D) wliequr-g:wdieqor fafy gra

The reliability of an athletic skill is often determined by

(A) Split-half method
(C) Parallel form method

csfire Wit wdietor o= Aar 7 7
(A) T TS Awar
(C) AU TEierar

What does treadmill Ergometry test measures ?

(A) The cardio respiratory fitness

(C) The muscular endurance

-18-

(B) Rational equivalence
(D) Test-retest technique

(B) 3ferehan wfea Frw=ran
(D) A=AATI et

(B) The maximum strength fitness

(D) Flexibility fitness

50
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64. fava@rdT sl HH-8 HRb TATId HLd & ?
| weef <t wehfd
II. wer ety 6 owTg
III. STehfeeh aitReatem
V. TSRO R

(A) 1T 1| (B) 1T IV (C) 1TE Il (D) 39U et
What are the factors that affects reliability ?

[. Nature of examinees

II. Length of the test

Ill. Environmental conditions

IV. Motivational factor
(A) landll (B) lland IV (C) ltand I (D) All of the above

65. Tfciiad & & i, Wi =49 & ISTE0/d0H & ?
|. SAfFauTehar
II. Tervagferar
1. frsaerar
IV. Sl
V. g
VI. IR
= fqu MU foehedt & @ T S FHT
(A) e I, I, 1Il, V (B) whaed I, 1Il, IV, VI
(C) aat I, Ill, V, VI (D) aa I, Il IV, V

Which of the following are illustrations of a good criteria of a test selection ?
I. Subjectivity
Il. Reliability
Ill. Objectivity
IV. Precision
V. Validity

VI. Administration

Choose the correct answer from the following options given below :
(A) L1, 10,V only (B) II, I, 1V, VI only
(C) 1,1, Vv, Vlonly (D) I, 10, 1V, V only
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66. T frerfiar smenfa gt 3
. T Ui guas
II. S 8 fRata
lIl. <hal T g |
IV. sal & form |
= feu e foaehedt o & @& I FHT -
%<
(A) I IV (B) 11, 1l (C) 1,1, v (D) 1, 1v, 1l
Motor educability depends on :
I. Neuromuscular coordination
II. Consistency in efforts
Ill. Age of the subject
IV. Gender of the subject
Choose the correct answer from the following options given below.

Code :
(A) 1,1V (B) I, 1l (C) L,V (D) 1, 1v, 1l
67. T — I I g — Il o W1 GATAA Hifore qn g & A= fgu U g @ wE 3w g
T - T -1l
a. Feide gfem aderor |. oY ©TiRdT &wd
b. 1T IR TlET II. e
c. e I, G % & ! [T
d. vag ardt V. =ITaH Sfed T A=
<<
(A) a=IV b=l c—1 d-1l
B) a—1I b-1ll c-1 d-1v
(C) a=ll b-IV c=1l d-—|1
(D) a-1lI b-1 c—1v d-1l
Match List — | with List — Il and select the correct answer from the codes given below the lists :
List -1 List -1l
a. Clevett’s Putting Test I. Vital Capacity
b. Kraus Weber Test II. Golf
c. Goniometer [ll. Measuring Joint Range
d. Spirometer IV. Minimum strength and Flexibility
Codes :
(A) a—1Vv b-1l c—I d-1
B) a—1I b-1l c—Il d-1v
(C) a-1 b-1V c—|l d—|
(D) a-1l b-1 c—1IVv d-1l

M -20- 50
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68. TTEh TSHI % ToIC Te-Aforamer FHifdarawsper fhedd &I O & foTw 1969 T FwUar 3R wHifueH
g Topm adieqor o1 fomtor femam mm o 2
(A) Tpieeh ATEHIEE 3R R H9 Hieadd fhed
(B) WifewIses 3Mfaslt We Ifafid wu e (H.S.T)
) TREPIE 3 B HiidA Jepen he ¥
D) T Hleiel WU &
Which test was constructed by Kurucz and Associates in 1969 for measuring Sub-maximal
cardiovascular fitness for adult boys ?
(A) Skubic Modified Test for sub-maximal fitness
(B) Modified Ohio State University Step Test (H.S.T.)
(C) Modified test for Cardiovascular fitness test
)

(D) Queens college step test
69. T — | I G — Il % Ty FAAT R :
T - g -1l
a. Toag-tFar |. "
b. IEqHSSAT II. STETfoTeRAT
c. Jera 1. wftorms & faatar
d. 3mest v. fafir wheent & @ wfom § i
F9 few T forehedtt # & R I AT ;
(A) a-1I b-IV c-1 d-—|
(B) a —III b-IV c—I d—1lI
(C) a b1l c—Il d-—1
(D) a —II b-Ill c-1V d-—|
Match List — | with List — Il
List -1 List -1l
a. Reliability |. Standards
b. Objectivity Il. Authenticity
c. Validity [ll. Consistency in result
d. Norms IV. Consistency in result with different testers

Choose the correct answer from the options given below.

(A) a—1l b-1V c—Il d-|1
(B) a—1i b-1V c—1 d-1l
(C) a- b -1l c—Il d-1I
(D)a—II b -1l c—1Vv d—|
70. T @ @S- e & fagrdi & faafa g ¢
(A) 3R 1 3rfoeamdt (B) 3uged FaTe fafer
(C) BT T TS (D) 3T
Which of the following is against the principle of organization ?
(A) Overlapping of Authority (B) Proper communication
(C) Delegation of power (D) Proper decentralization
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71, Suret A ardmawer fasted feran S 8
a. M qHL A
b. fafirear &
c. fraetar @
d. SafaTd Iepsear |
3 fo U ferpedt # @ T SR IR ;
(A) 9 a, b, d (B) A d, b, a (C) had a, b, ¢ (D) e ¢, d, b
Effective team environment is developed through
a. Social support
b. Distinctiveness
c. Fairness
d. Individual Excellence
Choose the correct answer from the options given below :
(A) a, b, donly (B) d, b, aonly (C) a, b, conly (D) c,d, bonly

72, = fGU T G AT H § T Bl AR (A) IR GE I T (R) FT T 8

AR (A)  : SWOT i Feft FHeft TOWS o &9 | T 1T 2 |
T (R) : TIE €9 SWOT &l ¥ UgqS g1 ferpfera femarm |
3IYYR HYHT o ATl J FefaRad fasedi # @ waffoss suge 3T A |
(A) (A) 3T (R) ST B B 3 (R), (A) T Wl = &
(B) (A) 3R (R) GHI &l B 3R (R), (A) h1 Wl e =l @
(C) (A) W& &, W (R) TTerd &
(D) (A) TIeTd @ W (R) Wl &
Given below are two statements; one is labeled as Assertion (A) and other is labeled as Reason (R).
Assertion (A) : SWOT is sometimes referred as TOWS.
Reason (R) : SWOT was majorly developed by Kenneth Andrews.
In the light of the above choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
() (A
(D) (A) is not correct but (R) is correct

73. Témer <fm gatde & fow 8= < wen st Tomn & foe e w3 o6 3w fomer smar @

) is correct but (R) is not correct

Which formula is used for calculation of number of matches for single league tournament ?

n(n+1) (B) nin—1) ©) n(n - 1) 2n-2
2 2 2

(A)
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74. Ush WA HAHHA & HILATIH T bl Hal shH 9q1sT

. Ste fmfor
IRREENE]
[[ANERIEE]
Iv. sH=TiE 6t frgfe
o few e forepedt @ R IR AT ;
(A) 1,1, v (B) 0, 1, v, 1 ©) 1, 1,1, v (D) IV, 1, 1,1
Arrange the following steps for managing a sports program :
[. Budgeting
II. Directing
IIl. Planning
IV. Staffing
Choose the correct answer from the options given below :
(A) 1,1V (B) HI, 1, IV, 1l C) 1, 1,1, 1v (D) IV, LI, 1
75. TohEH 378 WeeR o qoivd 31aT 9T Tl % Ugel ¥e (I Wi Fiddred foRam ?
(A) Th. Y, IR (B) . &, deweH
(C) et g (D) & wrREIA
Who propounded the first set of fundamental or general principles of a good management ?
(A) F.W. Taylor (B) T.T. Peterson
(C) Peter Drucker (D) Henry Fayol
76. Sifes T318T 9IS JSHT o 3= f31err Ugfd b Wl hH H sy |
|. &1 HeHTeh
Il. wEeE
. v fafyr =men
IV. BET GRI 31"
V. e
i fow U fepedt § @ T SO R ;
(A) I, VLIV, (B) I, 1, 1V, Vv, 1 (C) I, v, 1, v, | (D) I, v, 1L, v

Arrange the following in correct order as per the physical education lesson plan.
I. Evaluation of class
Il. Demonstration
Ill. By-part explanation
IV. Practice by students
V. Supervision
Choose the correct answer from the options given below :

(A) 11, V, 1L, 1V, | B) 11, 11, IV, V, | ©) 1, IV, 1L, V, | (D) 1L, 1L, IV, I, V

M -23- 50
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77. W G wUA € O | U 1 AR (A) AT G HI HRU (R) FHT TR
Attt (A) @ IR fren et wifees faem aeh &1 diftg 7t 2 |
HRO (R) o @ gfqafiar sfed o e ed € |

A fow T foert & T IR g

®e:
(A) (A) 3T (R) ST & & 3T (R), (A) Sl Tl AT HLcll &
(B) (A) 3T (R) THI & & T (R), (A) h1 Wl <ATEAT &l Ll &
(C) (A) & 8 Wg (R) TTeTd 2
(D) (A) Tefd B W (R) ¥ @
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R) :
Assertion (A) : Physical Education is not only limited to physical development.

Reason (R) : Competitive sports gives emphasis only on winning a tournament.
Select the correct answer from the options given below :
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) istrue but (R) is false

(D) (A) is false but (R) is true

78. o= O &1 Uk SHIEIRIehdl w1 AHCUS 8l & 7

(A) TEHE (B) TS (C) || (D) farem
From the below which one is not a criterion of professionalism ?
(A) Occupation (B) Organisation (C) Society (D) Education
79. g qun foaw =afaa w1 o wreuefe iafafy W =Ean =1 #15 = T@ g 8, wEan g
(A) EES dTeE (B) HTEURM gl
(©) fewaafrn (D) e
The condition in which the person has little or no control over the movement of his muscles is known
as
(A) Cerebral Palsy (B) Muscular Dystrophy
(C) Dystonia (D) Myopathy
80. ¢ % ‘T % freml’ 1 @er ufdneor § o A9 B 7
(A) STSTIRT T TSI (B) wfda 1 fareprer
(C) UM i U™ (D) ©el | FREAT T HEAT
What is the advantage of Newton’s ‘Laws of Motion’ in sports training ?
(A) Increasing will power (B) Improvement of strength
(C) Prevention of Fatigue (D) Providing safety in sports
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81. Tl — 1 T — I S 1 gHfera hife qen g & A= fou e e & & s g

g -1 -l
a. ot SrfREt . U T I8 T ]
b. B et II. 3UTT hebTed | UTE STt &
c. Juel et 1. Efea wom | g St 8
d. EuH et IV. ShIEHT H IS T 2
%C:
(A) a-1l b—Il c—I d-1v
B) a—1i b -1l c—1 d-1v
(C) a-I b-1IV c—Il d—1l
(D) a—-1Vv b-1 c—|l d—1ll
Match List — | with List — Il and select the correct answer from the codes given below the lists :
List -1 List -1l
a. Long bones I. Found in skull
b. Short bones Il. Found in appendicular skeleton
c. Flat bones lll. Found in confined spaces
d. Irregular bones IV. Found in vertebral
Codes :
(A) a=1I b—1ll c—1 d-1v
(B) a—1lI b—1l c—I d-1v
(C) a-1 b-1V c—Il d—1ll
(D) a—-1IVv b—I c—1l d—1lI
82. 100 HIX A & "y # 4 Tawensil &l s&d sy § o |
|. Sfcfshan =t
[I. =0T =T
II1. STTeHeh =0T
IV. Tl =
= fu o Feredt & W I 9T ;
%
(A) 1, L,V (B) Haat IV, I, I (C) Haat |, I, Il (D) LIV, 1,1

In relation to 100 meter race, arrange the following phases in ascending order.
I. Reaction phase
Il. Acceleration phase
Ill. Velocity phase
IV. Speed phase

Select the correct answer from the options given below :

Codes :
(A) 1L 1, 1, 1v (B) 1V, I, 1l only (C) LI, lonly (D) LIV, 1,
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83. THTH o SN HIEUTIRT T BT EHT HAT 2

(A) TEfirdt T (B) Toereafores wep=r
(©) fer (Rfew) sg=r (D) HHfZd Hg=
The shortening of muscle during contraction is known as
(A) Isometric contraction (B) Eccentric contraction
(C) Static contraction (D) Concentric contraction

84. g < nefty mreufsrt fereeht feurfa =t frafoa et @ 2
(A) BR, e 3 FEmgen
(B) fig, IHEe 3T AT Tgen
(C) T, e 3R g
(D) e {g
The axial muscles of the spine control the position of the
(A) Head, neck and pectoral girdle
(B) Vertebral column and pectoral and pelvic girdles
(C) Head, neck and vertebral column
(D) Vertebral column only

85. @ Wfsha fraeh GRI W A1 I I Tofehia § UNEfdd foham STl &, shaetdl &
(A) TEHISAIIGH ~ (B) TSshioHaE (C) TSR (D) forars=em

The process by which protein or fat is converted into glucose is called
(A) Glycogenolysis (B) Glycogenesis (C) Gluconeogenesis (D) Lipogenesis

86. 3TIIE! SicH, T hieH, TaUE! hicH 3 fmige e forae faam € 7
(A) B 3T (B) Sl 3Tma (C) faeeht (D) TR
Ascending colon, transverse colon, descending colon and sigmoid colon is the part of
(A) Small Intestine (B) Large Intestine (C) Vil (D) Bladder

87. = & e & oW 8 U il MR (A) TAT GEL Sl %R (R) el T 2
AfReA (A) @ T U ST O ol BfeR vt feEfed & 9 2 |
HAOT(R)  : TUHN o BRI ScA, AT FOR HUl § Yfase & S1ar 8 |
= feu e foaeshedt @ Tt 3w gHT -

A) (A) FR (R) THT T & 3T (R), (A) sl Tl SATE1 Tl B
(B) (A) 3R (R) ST & & W (R), (A) i Tl SATEAT T Hil B
(C) (A) A & T (R) Tetd &
(D) (A) TTeTd & W (R) §e B
Given below are two statements, one is labelled as Assertion (A) and the other as
Reason (R) :
Assertion (A) : Red blood cells break down when put in water.
Reason (R) : Due to osmosis, water enters the red blood cells.
Select the correct answer from the options given below :
Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true
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88. gate 3 wifaes fafsemm wfwan # ‘SAID fagr 1 o arewd 2 2

(A) Tfd 3R FiguT I AN HET (B) 3Tafeh fommdt & fafimse srggeH
(C) Wifea, =9erdl, dierdT, e (D) wifed, =derar, =afeda fieand
In rehabilitation and physiotherapy process, what is the meaning of principle of ‘SAID’ ?
(A) To impart speed and intelligence (B) Specific adaptation to internal disease
(C) Strength, Agility, Intensity, Density (D) Strength, Agility, Individual differences
89. & AT Yurett @ fAfoifad =won =t @t sha ° =afed L |
. T¢ 3R 9T Sga TS
II. femifeaet e
I11. Tfeht HTgeR
Iv. smfere-fer e
V. &9 =1 9=
(A) Il Y Vv I 1]
(B) Il \ v I 1]
() v Il \Y I I
(D) I Il v I \Y

Arrange the following steps of the cardiac conduction system in the correct sequence :
I. Right and left bundle branches
Il. Sinoatrial Node
Ill. Purkinje fibres
IV. Atrioventricular node
V. Bundle of His

(A) Il \Y, \" I 1]
(B) Il \Y v I 1]
() v Il \ I I
(D) I Il vV Il \Y
90. ‘Wer A1 wr Y feufq & HiA-w1 WY a1 Tl B A 7 7
(A) <feh (B) s (C) "ad (D) W Fere
Which nervous system get active when the situation of fight or flight’ arise ?
(A) Physical (B) Central (C) Sympathetic (D) Para sympathetic
91. HH-H1 5t g3 IuoT 3R forar &1 weha T 7 7
(A) T T T gAfer (B) SR-&R UIME i 6l 3T EHT
(C) V€ B THA IR &G T (D) HHTeHS B § IR
Which is not the sign of elevated arousal and heightened anxiety ?
(A) Sweaty hands (B) Frequent urge to urinate
(C) Increased respiration and heart rate (D) Improved-cognitive functioning
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92. T — I S T — Il & Y GATAT L |

g -1l

. 3. . .

TH. H.oUOA.
TA. TH. TH.
Sft. 3. w7,

v

T -1
a. g .
b. =T Il
c. T Tgfad .
d. fean IV.
= fou U foehedt § @ T I AT
(A) a- | b—ll  c—1l d-
(B) a-Ill b—I c—1IV d—1i
) a b—ll  c—1 d—I
(D) a-1i b-IV  c-I d—1i

Match List — I with List — II.

List -1
P.O.M.S.
S.CAT.
L.S.S.
G.E.Q.

v

GET IT ON
Google Play

93. El wHEER forew wftgdl w1 WIS 3/ s TohEH UgETeR S 1 el &l §, SEedl §

List -1

a. Leadership l.

b. Personality 1.

c. Group cohesion M.

d. Anxiety V.
Choose the correct answer from the options given below.
(A) a— 1 b -1l c—ll d-
(B) a—1l b—I c-1Vv d-Il
(C) a b-1l c—1 d-I
(D) a-Ii b-1IV c—| d-1lil
(A) ITATYOT SATSHERAT

(B) HTHTCHSh HATshHshdT

(C) T3uHT EER

(D) feae =R

A behaviour where opponent is psychologically and/or physically harmed but the goal is to win is called

(A
B
(C
(D

) Hostile aggression

) Instrumental aggression
) Assertive behaviour

)

Violent behaviour
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94. F=-1 ! FaA-Il & Y Guferd i |
g - |

a. FEYYH HAIITH

b. MY T9F § TAIfIR

c. 3T % IR AT

d. I qifeR < STER TR

= feu o faehedt # @ @&l W AT -

(A) a— 1l

(B)

(C)

(D) a—1IV

Match List-1 with List -II.

95.

96.

97.

a. First of all psychology

b. Psychology of modern times

c. Psychology according to Aristotle

d. Psychology according to Greek philosophers

Choose the correct answer from the options given below.
(A) a—1I
(B) a—1i
(C) a-I
(D) a—1IVv

fooqt Shem 3 fiel & IER safaacd I oo T@l & oier T @ 7

According to Hippocrates and Gallan the personality is divided in how many groups ?

a
a

List -1

GET IT ON
Google Play

g -1l
. =T <Rl foe
II. A9 1 fagm

. 37T oh1 fosm

IV. SIGER Rl TSI

List -1l
I. The science of consciousness
Il. The science of mind
lll. The science of soul
IV. The science of behaviour

(A) 3 (C) 5 (D) 6
TEROT- 3T wer i fFefefaa oft et S g e
(A) TH-Treqor (B) FTE-TFRR qler  (C) d-udieqor (D) STEg-qeqor
Variance ratio test is also termed as
(A) F-test (B) Chi-square test (C) t-test (D) Z-test
e o @ aefe My & o d PR-wm a7 7
a. SFAfed
b. frfma
c. Afaew
d. 3o
= fou e Rt # & T SR R -
(A) 9 a, b, ¢ (B) 9 b, ¢, d (C) %ed a, ¢, d (D) e a, b, d

Which of the following statements are correct about scientific research ?
a. Systematic

b. Controlled
c. Ethical
d. Investigation
Choose the correct answer from the options given below.
(A) a, b, conly (B) b, c,donly (C) a,c,donly (D) a, b, donly
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98. HETcH® MY & (i & fou f=fefiga 9 @ s-41 urufes gree 3w fmar s g 7

o T o

d.

TN dedr
EIBEERKI
Tergerafrar
Frsaetan

(A) I aTI b

Which of the following are the traditional criteria used for the judgement of qualitative research ?

a.
b.
c.
d.

Internal validity
External validity

Reliability
Objectivity

(A) aandb only

99. = &1 e & o | U 1 fieRe (A) 7T g
aAfireRem (A)
HRT (R)

(B) %t a, b Td ¢

(B) a, bandc only

ﬁ%%ﬁﬂﬁﬁﬁ@@ﬂﬂﬁ?:

)(A

R) gF1 9 & 3 (R), (A

(C) (A) & &, T (R) Toid & |
) (A) 7T B, W (R) 9T 2 |

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

(D)

Assertion (A) : Type Il error is accepting the null hypothesis when it is false.
: This error is due to false interpretation of data.
Select the correct answer from the options given below :

Reason (R)

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B

(€

(D

100. fr=fafga & & w-¥f, TR i fafu g & i & 7

(A) FTEL THATRITT

Both (A) and (R) are true but (R) is not the correct explanation of (A).

(A) is true but (R) is false.
(A) is false but (R) is true.

(C) &HIha ATGI=seh FHATH

(C) Stratified random sampling

1 SR (R

C) %o b TH ¢

(C) bandconly

) 1 & ST LT B |
(B) (A) 3R R)aﬁw%tr@ (R), (A) 1 & = & e B |

(B) A TR
D) SewAYUl TR

Which one of the following sampling technique is different from others ?
(A) Cluster sampling (B) Random sampling

(D) Purposive sampling

-30-

) <hET T B
: 2199 11 e S INEhedAT i TR T & S I8 Teld g |
: Fg (e 3TheT h Told SRS b HRU Bl 8 |

D) %adl b, ¢ Td d

(D) b, candd only
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